

④ If $0 < |z-1| < 2$ then express $f(z) = \frac{z}{(z-1)(z-3)}$ in a series of positive and negative powers of $(z-1)$.

P.G. Sem-II of
 Paper-III, unoff. - KA
 Complex integrals
 Dr. G.D. Singh

शनि	रविवार	मंगल	बुध	गुरु	शुक्र	शनि
4	5	6	7	8	9	10
11	12	13	14	15	16	17
18	19	20	21	22	23	24
25	26	27	28	29	30	31

अक्टूबर 2009

टिप्पणी

.....

.....

.....

3 गुरु

Let $u = z-1$ so $0 < |u| < 2$

$$\text{or } \frac{|u|}{2} < 1$$

$$\therefore f(z) = \frac{z}{(z-1)(z-3)}$$

$$= \frac{A}{z-1} + \frac{B}{z-3} = \frac{A(z-3) + B(z-1)}{(z-1)(z-3)}$$

$$\therefore z = A(z-3) + B(z-1)$$

Let $z=3$,

$$3 = A(0) + B(2) \therefore B = \frac{3}{2}$$

4 शुक

$$z=1, \quad 1 = A(-2) + B(0) \therefore A = -\frac{1}{2}$$

$$\therefore f(z) = \frac{-\frac{1}{2}}{2(z-1)} + \frac{3}{2(z-3)}$$

$$= -\frac{1}{2} \cdot \frac{1}{u} + \frac{3}{2} \times \frac{1}{z-1-2}$$

$$= -\frac{1}{2u} + \frac{3}{2(u-2)} = -\frac{1}{2u} + \frac{3}{-2 \times 2 \left(1 - \frac{u}{2}\right)}$$

$$= -\frac{1}{2u} - \frac{3}{4} \left(1 - \frac{u}{2}\right)^{-1}$$

टिप्पणी

पंक्ति	पंक्ति	पंक्ति	पंक्ति	पंक्ति	पंक्ति	पंक्ति
30	31					1
2	3	4	5	6	7	8
9	10	11	12	13	14	15
16	17	18	19	20	21	22
23	24	25	26	27	28	29

2

$$= \frac{-1}{2u} - \frac{3}{4} \left\{ 1 + \frac{u}{2} + \frac{u^2}{4} + \frac{u^3}{2^3} + \dots + \left(\frac{u}{2}\right)^n \right\} \quad \text{5 रति}$$

$$= -\frac{3}{4} \sum_{n=0}^{\infty} \left(\frac{u}{2}\right)^n - \frac{1}{2u}$$

$$= -\frac{3}{4} \sum_{n=0}^{\infty} \frac{(z-1)^n}{2^n} - \frac{1}{2(z-1)} \quad \text{Ans}$$

5. Prove that

$$\log z = (z-1) - \frac{(z-1)^2}{2} + \dots$$

$$= |z-1| < 1$$

Let $f(z) = \log z$

6 रति

By Taylor's theorem,

$$f(z) = \sum_{n=0}^{\infty} \frac{(z-a)^n}{n!} f^{(n)}(a)$$

$$= f(a) + \frac{(z-a)}{1!} f'(a) + \frac{(z-a)^2}{2!} f''(a) + \dots$$

Taking $a = 1$

$$f(z) = f(1) + \frac{z-1}{1!} f'(1) + \frac{(z-1)^2}{2!} f''(1) + \dots \quad (1)$$

दि	सोम	मंगल	बुध	गुरु	शुक्र	शनि
				1	2	3
4	5	6	7	8	9	10
11	12	13	14	15	16	17
18	19	20	21	22	23	24
25	26	27	28	29	30	31

अक्टूबर 2009

टिप्पणी

सितम्बर 2009

(3)

7 सोम

$$\text{Now } f(1) = \log(1) = 0$$

$$\therefore f(z) = \log z$$

$$\therefore f'(z) = \frac{1}{z} = z^{-1}$$

$$f''(z) = -z^{-2}$$

$$f'''(z) = 2z^{-3}$$

$$\therefore f(1) = \log 1 = 0, f'(1) = \frac{1}{1} = 1$$

$$f''(1) = -1, f'''(1) = 2$$

From (1)

$$f(z) = f(1) + (z-1)f'(1) + \frac{(z-1)^2}{2} f''(1)$$

8 मंगल

$$\log z = 0 + (z-1)(1) - \frac{(z-1)^2}{2} + \dots$$

formed